

# County Distribution Detail Report through 12/02/2019

#### Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,143	1,847	13	3,003	\$3,753.75	\$96.13	\$3,657.62	0.70	\$2,560.33
							Entity Total		\$2,560.33
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,560.33
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,852	10,390	257	14,499	\$18,123.75	\$383.61	\$17,740.14	0.70	\$12,418.10
							Entity Total		\$12,418.10
							Adjustment	1	\$0.00
							Total Amou	nt:	\$12,418.10
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	911	1,113	3	2,027	\$2,533.75	\$58.83	\$2,474.92	0.70	\$1,732.44
							Entity Total:		\$1,732.44
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,732.44
Bon Hommo									

### Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,988	3,882	9	5,879	\$7,348.75	\$148.89	\$7,199.86	0.70	\$5,039.90
							Entity Total:		\$5,039.90
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,039.90

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	10,904	20,902	148	31,954	\$39,942.50	\$864.28	\$39,078.22	0.70	\$27,354.75
							Entity Total	:	\$27,354.75
							Adjustment	:	\$0.00
							Total Amou	nt:	\$27,354.75
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	9,823	26,065	235	36,123	\$45,153.75	\$942.47	\$44,211.28	0.70	\$30,947.90
							Entity Total	:	\$30,947.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$30,947.90
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,277	3,540	6	5,823	\$7,278.75	\$149.14	\$7,129.61	0.70	\$4,990.73
							Entity Total	:	\$4,990.73
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,990.73
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	533	438	1	972	\$1,215.00	\$24.74	\$1,190.26	0.70	\$833.18
							Entity Total	:	\$833.18
							Adjustment	:	\$0.00
							Total Amou	nt:	\$833.18
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,497	6,363	27	8,887	\$11,108.75	\$232.88	\$10,875.87	0.70	\$7,613.11
							Entity Total	:	\$7,613.11
							Adjustment	:	\$0.00

Total Amount: \$7,613.11

## Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	726	1,408	8	2,142	\$2,677.50	\$53.64	\$2,623.86	0.70	\$1,836.70
							Entity Total:		\$1,836.70
							Adjustment:		\$0.00
							Total Amount	:	\$1,836.70

## **Charles Mix**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,706	5,387	17	8,110	\$10,137.50	\$208.03	\$9,929.47	0.70	\$6,950.63
							Entity Total:		\$6,950.63
							Adjustment:		\$0.00
							Total Amoun	t:	\$6,950.63

## City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	24	2,497	39	2,560	\$3,200.00	\$81.06	\$3,118.94	0.70	\$2,183.26
							Entity Total:		\$2,183.26
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,183.26

#### City of North Sioux City, Un

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	899	2,661	132	3,692	\$4,615.00	\$121.22	\$4,493.78	0.70	\$3,145.65
							Entity Total:		\$3,145.65
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,145.65
City of Sioux Falls, I	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	4,187	24,252	1,355	29,794	\$37,242.50	\$810.68	\$36,431.82	0.70	\$25,502.27
							Entity Total:		\$25,502.27

Adjustment: \$0.00 Total Amount: \$25,502.27

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,364	2,354	12	3,730	\$4,662.50	\$96.89	\$4,565.61	0.70	\$3,195.93
							Entity Total:		\$3,195.93
							Adjustment:		\$0.00
							Total Amount	:	\$3,195.93
Clay									

Reporting Pe	riod Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,704	7,528	200	9,432	\$11,790.00	\$247.28	\$11,542.72	0.70	\$8,079.90
							Entity Total	:	\$8,079.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$8,079.90

## Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	7,675	18,751	895	27,321	\$34,151.25	\$738.44	\$33,412.81	0.70	\$23,388.97
							Entity Total:		\$23,388.97
							Adjustment:		\$0.00
							Total Amoun	t:	\$23,388.97

Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,178	613	132	1,923	\$2,403.75	\$50.20	\$2,353.55	0.70	\$1,647.49
							Entity Tota	l:	\$1,647.49
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,647.49
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,494	5,578	42	9,114	\$11,392.50	\$255.14	\$11,137.36	0.70	\$7,796.15

		Entity Total:	\$7,796.15
		Adjustment:	\$0.00
		Total Amount:	\$7,796.15
Davison			

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	5,042	13,860	176	19,078	\$23,847.50	\$491.30	\$23,356.20	0.70	\$16,349.34
							Entity Total:		\$16,349.34
							Adjustment:		\$0.00
							Total Amou	nt:	\$16,349.34

#### Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,160	3,518	9	5,687	\$7,108.75	\$143.88	\$6,964.87	0.70	\$4,875.41
							Entity Total:		\$4,875.41
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,875.41

### Deuel

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,799	2,899	17	4,715	\$5,893.75	\$120.16	\$5,773.59	0.70	\$4,041.51
							Entity Total:		\$4,041.51
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,041.51

## Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,238	2,167	19	3,424	\$4,280.00	\$88.87	\$4,191.13	0.70	\$2,933.79
							Entity Total:		\$2,933.79
							Adjustment:		\$0.00
							Total Amour	t:	\$2,933.79
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

10/2019	1,284	2,879	18	4,181	\$5,226.25	\$106.79	\$5,119.46	0.70	\$3,583.62
							Entity Total:		\$3,583.62
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,583.62
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,229	4,540	12	7,781	\$9,726.25	\$202.70	\$9,523.55	0.70	\$6,666.49
							Entity Total:		\$6,666.49
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,666.49
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	762	1,478	5	2,245	\$2,806.25	\$56.41	\$2,749.84	0.70	\$1,924.89
							Entity Total:		\$1,924.89
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,924.89
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,172	5,201	25	7,398	\$9,247.50	\$189.14	\$9,058.36	0.70	\$6,340.85
							Entity Total:		\$6,340.85
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,340.85
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,782	3,470	17	5,269	\$6,586.25	\$144.35	\$6,441.90	0.70	\$4,509.33
							Entity Total:		\$4,509.33
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,509.33
Haakon									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,039	1,367	5	2,411	\$3,013.75	\$60.44	\$2,953.31	0.70	\$2,067.32
							Entity Total:		\$2,067.32
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,067.32
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,675	3,634	8	5,317	\$6,646.25	\$134.01	\$6,512.24	0.70	\$4,558.57
							Entity Total:		\$4,558.57
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,558.57
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,085	2,640	13	3,738	\$4,672.50	\$103.48	\$4,569.02	0.70	\$3,198.31
							Entity Total:		\$3,198.31
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,198.31

## Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	912	3,048	20	3,980	\$4,975.00	\$102.85	\$4,872.15	0.70	\$3,410.51
							Entity Total:		\$3,410.51
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,410.51
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	704	857	2	1,563	\$1,953.75	\$49.34	\$1,904.41	0.70	\$1,333.09
							Entity Total:		\$1,333.09
							Adjustment:		\$0.00

\$1,333.09

**Total Amount:** 

### Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2019	4,324	14,149	193	18,666	\$23,332.50	\$508.34	\$22,824.16	0.70	\$15,976.91	
							Entity Total	:	\$15,976.91	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$15,976.91	
Hutchinson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2019	2,960	5,037	37	8,034	\$10,042.50	\$219.64	\$9,822.86	0.70	\$6,876.00	
							Entity Total	:	\$6,876.00	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$6,876.00	
Hyde										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2019	619	1,070	5	1,694	\$2,117.50	\$43.07	\$2,074.43	0.70	\$1,452.10	
							Entity Total	:	\$1,452.10	
							Adjustment	:	\$0.00	
							Total Amou	nt:	\$1,452.10	
Jackson										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
10/2019	661	846	4	1,511	\$1,888.75	\$38.31	\$1,850.44	0.70	\$1,295.31	
							Entity Total	:	\$1,295.31	

Jerauld

10/2019

**Reporting Period** 

						Adjustment	:	\$0.00
						Total Amou	int:	\$1,295.31
Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
844	1,266	5	2,115	\$2,643.75	\$54.66	\$2,589.09	0.70	\$1,812.36

Entity Total: \$1,812.36

Adjustment: \$0.00

Total Amount: \$1,812.36

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	574	688	3	1,265	\$1,581.25	\$32.32	\$1,548.93	0.70	\$1,084.25
							Entity Tota	ıl:	\$1,084.25
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,084.25

## Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,339	3,944	54	5,337	\$6,671.25	\$136.68	\$6,534.57	0.70	\$4,574.20
							Entity Total:		\$4,574.20
							Adjustment:		\$0.00
							Total Amount	:	\$4,574.20

#### Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,765	9,086	63	11,914	\$14,892.50	\$309.69	\$14,582.81	0.70	\$10,207.97
							Entity Total:		\$10,207.97
							Adjustment:		\$0.00
							Total Amour	nt:	\$10,207.97

#### Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	7,850	16,888	140	24,878	\$31,097.50	\$648.83	\$30,448.67	0.70	\$21,314.07
							Entity Total:		\$21,314.07
							Adjustment:		\$0.00
							Total Amoun	it:	\$21,314.07
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,990	23,348	865	28,203	\$35,253.75	\$784.28	\$34,469.47	0.70	\$24,128.63
							Entity Total:		\$24,128.63

Adjustment: \$0.00 Total Amount: \$24,128.63

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,022	1,755	211	2,988	\$3,735.00	\$83.80	\$3,651.20	0.70	\$2,555.84
							Entity Total:		\$2,555.84
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,555.84

#### Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,623	2,808	12	4,443	\$5,553.75	\$115.67	\$5,438.08	0.70	\$3,806.66
							Entity Total:		\$3,806.66
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,806.66

#### McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,164	4,229	10	6,403	\$8,003.75	\$162.53	\$7,841.22	0.70	\$5,488.85
							Entity Total:		\$5,488.85
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,488.85

#### McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	996	1,560	16	2,572	\$3,215.00	\$80.19	\$3,134.81	0.70	\$2,194.37
							Entity Total:		\$2,194.37
							Adjustment:		\$0.00
							Total Amour	it:	\$2,194.37
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,607	17,812	104	21,523	\$26,903.75	\$576.08	\$26,327.67	0.70	\$18,429.37

		Entity Total:	\$18,429.37
		Adjustment:	\$0.00
		Total Amount:	\$18,429.37
Mellette			

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	583	672	0	1,255	\$1,568.75	\$31.39	\$1,537.36	0.70	\$1,076.15
							Entity Tot	al:	\$1,076.15
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,076.15

#### Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,006	1,592	4	2,602	\$3,252.50	\$65.72	\$3,186.78	0.70	\$2,230.75
							Entity Total:		\$2,230.75
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,230.75

#### Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	42,579	149,864	4,700	197,143	\$246,428.75	\$5,236.42	\$241,192.33	0.70	\$168,834.63
							Entity Total	:	\$168,834.63
							Adjustment	:	\$0.00
							Total Amou	nt:	\$168,834.63
Maadu									

#### Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,423	4,559	16	5,998	\$7,497.50	\$175.00	\$7,322.50	0.70	\$5,125.75
							Entity Total:		\$5,125.75
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,125.75
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

10/2019	25,431	78,933	1,195	105,559	\$131,948.75	\$2,836.86	\$129,111.89	0.70	\$90,378.32
							Entity Total	l:	\$90,378.32
							Adjustment	t:	\$0.00
							Total Amou	int:	\$90,378.32
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,732	2,277	6	4,015	\$5,018.75	\$110.59	\$4,908.16	0.70	\$3,435.71
							Entity Total	l:	\$3,435.71
							Adjustment	t:	\$0.00
							Total Amou	int:	\$3,435.71
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,147	1,753	9	2,909	\$3,636.25	\$73.95	\$3,562.30	0.70	\$2,493.61
							Entity Total	l:	\$2,493.61
							Adjustment	t:	\$0.00
							Total Amou	int:	\$2,493.61
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,450	4,932	15	8,397	\$10,496.25	\$232.32	\$10,263.93	0.70	\$7,184.75
							Entity Total	l:	\$7,184.75
							Adjustment	t:	\$0.00
							Total Amou	int:	\$7,184.75
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	783	1,754	8	2,545	\$3,181.25	\$63.76	\$3,117.49	0.70	\$2,182.24
							Entity Tota	l:	\$2,182.24
							Adjustment	t:	\$0.00
							Total Amou	int:	\$2,182.24
Snink									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	1,960	4,525	17	6,502	\$8,127.50	\$168.91	\$7,958.59	0.70	\$5,571.01
							Entity Total:		\$5,571.01
							Adjustment:		\$0.00
							Total Amount		\$5,571.01
Stanley									
<b>Reporting Period</b>	<b>Telecom Lines</b>	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

			Lines					Percent	
10/2019	719	2,164	16	2,899	\$3,623.75	\$76.19	\$3,547.56	0.70	\$2,483.29
							Entity Total:		\$2,483.29
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,483.29

#### Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	644	1,179	4	1,827	\$2,283.75	\$46.23	\$2,237.52	0.70	\$1,566.26
							Entity Total:		\$1,566.26
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,566.26

## Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	0	51	4	55	\$68.75	\$11.18	\$57.57	0.70	\$40.30
							Entity Total:		\$40.30
							Adjustment:		\$0.00
							Total Amount:		\$40.30
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,449	3,922	2	6,373	\$7,966.25	\$164.42	\$7,801.83	0.70	\$5,461.28
							Entity Total: Adjustment:		\$5,461.28
									\$0.00

Total Amount: \$5,461.28

## Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,234	6,230	17	8,481	\$10,601.25	\$214.01	\$10,387.24	0.70	\$7,271.07
							Entity Total	:	\$7,271.07
							Adjustment	:	\$0.00
							Total Amount:		\$7,271.07
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	3,018	11,009	211	14,238	\$17,797.50	\$423.69	\$17,373.81	0.70	\$12,161.67
							Entity Total	:	\$12,161.67
							Adjustment	:	\$0.00
							Total Amount:		\$12,161.67
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	2,059	3,592	118	5,769	\$7,211.25	\$146.11	\$7,065.14	0.70	\$4,945.60
							Entity Total	:	\$4,945.60
							Adjustment:		\$0.00
							Total Amount:		\$4,945.60
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2019	5,273	15,764	195	21,232	\$26,540.00	\$543.12	\$25,996.88	0.70	\$18,197.82
							Entity Total	:	\$18,197.82
							Adjustment	:	\$0.00
							Total Amount:		\$18,197.82

 Totals
 214,596
 596,385
 12,136
 823,117
 \$ 1,028,896.25
 \$ 21,971.23
 \$ 1,006,925.02